
PROBLEM 1 

Method-1: 

 



Method-2 
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PROBLEM 2 

Distributed load 
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Moment: 𝑀𝐴 = 0 
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(c) 𝑀𝑚𝑎𝑥 ◄ 

 at  𝑥 = 0.423𝐿 ◄ 

 

 

 

 

 

 

 

 

 

 

 

 

 



PROBLEM 3 

 

𝛼 = 𝑡𝑎𝑛−1 (
1

8
) = 7.1° 

 

Member DF: 

          𝛴𝑀𝐸 = 0:  −𝐹𝐷𝐹(1.75 m) + (30 kN)(4 m) +
                                                                       (20 kN)(2 m) = 0 

 𝐹𝐷𝐹 = +91.4 kN 𝐹𝐷𝐹 = 91.4 kN 𝑇◄ 

Member DE: 

𝛴𝑀𝑂 = 0:  −𝐹𝐷𝐸(14 m) − (30 kN)(10 m) −
                                                         (20 kN)(12 m) = 0 

 𝐹𝐷𝐸 = −38.6 kN 𝐹𝐷𝐸 = 38.6 kN 𝐶◄ 
 


